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SOCIAL WORK
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who among the following has given the structural view of society ?

(1) Durkheim (2) Giddings (3) Mac Iver (4) Cooley
2. Melancholia is popularly known as :

(1) Dementia (2) Mental retardation

(3) Depression (4) Anxiety

3.  Who among the following has developed the concept of ‘inferiority complex” ?
(1) Mashalow (2) Adler (3) ~ Cattel (4) Cyril Butt

4.  According to H.B. Trecker which one of the following is wanted by each individual and
social group worker should be aware of it ?

(1) Help (2) Support (3) Assistance (4) Recognition
5.  Non-confirmity to a set of norms is known as :

(1) Crime (2) Habit

(3) Deviance (4) Juvenile Delinquency
6.  Allocation of roles and status to members in a group is known as :

(1) Cohesion (2) Control (3) Confrontation (4) Structuring
7.  Social change as a socio-cultural concept implies :

(1) Little structural continuity

(2) Absoluteness rather than relativity
(3)  Abrupt change
(4) Sufficient continuity in the structure of a society
s [T :
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o : =8 wTs ® e (75) Sg-foeeuta T €1 Us U % S (2) ok § 1 |ty aferd ¥

1.

ffafad § 9 fora 9 & G3EAcHs gl o1 gfqured fhar o ?

(1) &= (2) fufém (3) e IR 4 FA
ARl [T h] FMHTId: fohd 98 & ST ST § 2

(1) fedfmn (2) WHEEER Hed

(3) 3TEHE (4) fear

frafafea o @ foaea SRve (RRAIRET Sivcied) &t sTauron w1 fasfag faan ?
(1) Heen 2) TSW 3) Hed (4) faf@ ae

TE.H. TR & TR TS At o1 fefafad # 9 fraent sTaashd Usdl § qo Hrises 99
ShTdehdl hl SEeh! SIMehR] BT =M(ET ?

(1) ¥<g (2) w\A (3) ERHd (4) HF=F

FTHi o1 STIUTE < YA ol 1 hel ST & 2
(1) emHuH (2) oed
(3) fer=re™ (4) S YUY

T e H @i 1 < T yffent qen <ot ol fefafed § @ few am S S S € 2
(1) wafe 2) e
(3) EHUE (4) HEHRL (FZFE)

GrTSIeh-Tith ek SR % €9 H GraTieis gied= | n faf-fed S § 2
(1) F® HEACHS Hdddl

(2) ETUEAT I SN HqUidl

(3) STyt afedH

(4) T G 1 G § 9T S
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8. is the marriage of a man with the childless widow of his deceased brother.
(1) Levirate (2) Sororate
(8) Sororal Polygyny (4) Polygyny
9.  Human Resources are the most important only, if they have :
(1) Large population (2) Primary education
(3) Skill and training (4) Inter-group relationships
10. The Indecent Representation of Woman (Prohibition) Act was passed in :
(1) 1983 (2) 1984 (3) 1985 (4) 1986
11. Who was the Chairperson of the ‘All India Committee on Prison Reforms, 1980-83" ?
(1) Justice A.N. Mulla (2) Justice M.N. Venkatachalaiah
(3) Justice A.S. Anandh (4) Justice V.R. Krishna Iyyer
12.  What does the term ‘Electra Complex” denote ?
(1) Over attachment with father (2) Over attachment with mother
(3) Over attachment with brother  (4). Over attachment with sister
13. Consider the following statements.
(a) Promote measures for securing and preserving good relations between the employers
and workmen
(b) Duty to comment upon matters of common interest or concern of employers and
workmen
() Compose any material difference of opinion or concern between employers and
workmen
The above are the duties of which Committee :
(1) Complaint Committee (2) Works Committee
(38) Court of Enquiry (4) Welfare Committee
14. Under Juvenile Justice Act, the observation home is mainly meant for :
(a) Thrown away children (b)  Children in conflict with law
(c) Run away children (d) Children whose cases are pending
Code :
(1) (a), (b) and (c) only (2) (b) and (d) only
(3)  (c) and (d) only (4) (a) and (c) only
anor [ MU ;




10.

3T A 9§ ol e €l o | Tk SAfed 1 foare FHEAd & |

(1) dfewe (2) W

(3) HRRS dieffsH (4)  OrelfSH

A HE1EA hae At et Teeqol B § 9 3k O

(1) =S SHE (2) etk firen &
(3) I TH WTET 2 (4) STR-WE Geid &

gfgemedl o1 31velie gfafafee (ufauer) sifufqam e oifia foram Tam en?

(1) 1983 # (2) 1984 H (3) 1985 H (4) 1986 H
11.  1980-83 % SRM & ‘el RdT Siel GuR @fafa’ w1 stezey o ?
(1) ~EEfd T, e (2) EHfd THUA. deheHeera
(3) —EHfd TUH. Mg (4) —FEEfd SR F ST
12, ‘SO hivRie | IR 1 T 3T § 2
(1) Ty & @ sifyes omE (2) M | SAE e
(3) 9 % WY AfHHk e (4) =& % 1Y Al o
13. frAfafEd sl | fa=m ST
(a) TS A HTTRI o ST 37= Hei¥ I 91 3¢ 9T W@ & fore 3umil =l sferan <A
(b)  TrveRmstl den KT < Gren fed steran fodr HeiE Ame W fewofi 5 1w (Sifue)
(c) TriEmel deon MRl & o= fordt qea ade 1o fodr sl e &
SRR form wfafa % e €2
(1) @ |faf 2) o A
(3) I HTH s (4) e |t
14. TR9R = sifuftaw & siafa wae T8 fafatad § 9 gera: feas fag dsm e ?
(a). Theh gL I (b) A % Y HIRA 9=
() TRI 9 gL A ) & ==, 57F g dfed €
<< :
(1) % (a), (b) 3T (c) (2) F (b) SR (d)
(3) A (c) ¥ (d) (4) FFA () 3 (c)
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15. In whose opinion mental illness is a myth and infact problems of living :
(1) George Simmel (2) C.E. Murray
(3) Thomas Szasz (4) E.L. Brown

16. Which one of the following programmes was not part of social security system based on
Beveridge report ?

(1) Social Insurance (2) Public Assistance

(3) Family Allowance (4) Allowance to handicapped

17. Malimath Committee is related to :
(1) Reforms of criminal justice system
(2) Centre-state relations
(3) Electoral reforms
(4)

Recognition of states

18. When the dependent variable is not free from the influence of extraneous variable(s), the

relationship between dependent and independent variables is known as :
(1) Confounded relationship

(2) Cause and effect relationship

(3) Product and producer relationship
(4)

Controlled relationship

19. Which one of the following is a method of laboratory research ?
(1) Play and role analysis (2) Participant observation

(3)  Analysis of documents (4) Focussed interview
20. Which of the following is a machinery for settlement of industrial disputes in India ?
(1)  Indian Labour Conference (2) Joint Management Council

(3)  Industrial Tribunal (4) Standing Labour Committee

21. What does the term ‘dipsomania” mean ?

(1) Compulsive physical abuse (2) Compulsive alcohol consumption
(3) Compulsive speed driving (4) Compulsive pool diving from heights
s [T ;
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frefafaa § & foae faar § for amfaes I T faes § iR awqq: I Ste ! goe € 2
1) SIS fame 2) HE W
(3) UME HS 4) ZUd. oA

AR fde & SMER W fAfarad | SiA-91 rishH FrTsien et Jorel o1 e =& © 2
(1) HMISR S (2) HIHRT FEIEI
(3) HIRE W (4) famar o fag 9=

gfemy wHer frafafaa § 9 fegd defuq g2
(1) STUUfYeh = Yumedt o Ger

2) FE-T Hay
(3) FTE gHR
(4) TSI I AR YSH AT

T M =R A =R (I F UG F G @ ol & dl ST = IR T =9l & o ga
frefefed & 9 1 sead § ?

(1) ST (FhREes) HaY
(2) HRU R YAE Y

(3) SR IR SR Had

O BRERIECREE!

frefafed § 4 SH-9t T yEmeen stda w6t fafy g2

1) T AR e fowerso (2) ERWIRE 1 STaieh
(3) TEES @ foreroo (4) hf=d HETehR
frefafed & 9 @ yra o sienfires foeml & foer e o €2

(1) R 987 FHeA (2) HIH Feigd UREg
(3) STt =t (4) TR g giE

‘fewdmfn’ wes 1 oo 379 B2
(1) 3ffereh ARes oo (2) ITHEYH FchEA STH
(3) 3Ty TS T ¥ aMEA = (4) TR 39 9 I H DA I
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22.  Which among the following School of thought used the concept of social disorganisation in
explaining juvenile delinquency ?

(1) Classical School (2) Positive School
(8) Chicago School (4) London School

23. Who is the author of the book “Pattern of culture” ?
(1) Ruth Benedict (2) G.W. Allport (3) Kimball Young (4) M.N. Srinivas

24. Which among the following authority is empowered to grant probation to an offenders ?

(1) Police officer (2) Prosecution (3) Prison authority (4). Court of law

25.  Which among the following Indian States has the largest number of ‘open prisons” ?

(1) Maharashtra  (2) Punjab (3) Rajasthan (4) Tamil Nadu

26. Fundamental Interpersonal Relations Orientation (FIRO) was developed by :
(1) Cooley (2) Bales (3) -~ William Schutz (4) Helariko

27. Shaping relations between individuals to facilitate action creates :
(1) Social capital (2) Economic capital

(3) Human capital (4) Individual capital

28. Device of assessing interpersonal attraction, rejection and power is known as :

(1) Counselling (2) Case work (3) Consciousness (4) Sociometry
29. The term “Factory” is defined in Section of the Factories Act 1948.
1 20 2 2(p) 3 2() 4) 2 (m)

30. What shall be the proportion of women amongst the members appointed in the Advisory
Committee formed under the Equal Remunation Act 1976 ?

(1) One-Fourth (2) One-Half (3) One-Third (4) Full-100%

31. Statutory right of re-employment remains in case of :

(1) Dismissed worker (2) Retired worker
(3) Suspended worker (4) Retrenched worker
s [T :
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26.
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28.

29.

30.

31.

fr=fafea § 9 fog foama § o ST9UY sl SaRe hid THT | foased i T¢I hl
AT femam T © 2

(1) onfgent foamem (2) HhRIHF fo=mym
(3) Toremn fommem (4) e fa=meEm

‘Yo TR ThoeR ! T T TG B © 2
1) T dHfew (2) Shesy, sfiede (3) formeia A (4) THTH. gifterE

frafafaa # 9 forg sifuel =1 T 79U &1 WeeE YeM i o1 S1fYsR o & 2
1) Yfew sfgwt (2)  SAfHEISH (3) Sl Uit (4) =

frfafead & @ fFg IRda T § 9ed aifus ‘g FRIR' €2
(1) WERIL (2) U (3) TSTEAH (4) dfHeTg

frfafea # 9 feem wemed serudTa Rewrg SiRu=yH (TF.e1E. 2130, ) fosfaa foear an?

(1) Fe (2 = () faferm st (4) e
foren &g =afaall 6 ore day fasfaa & @ fafafed # 9 frae gem Sa e ?

(1) SR it (2)  enfe gt

(3) HE YSiT (4) oAfeRTA gt

YRR SATRYUI, TR qe Ve o1 3TeheT i hi fsha 1 oI hel Sl § 2
(1) <REET (2) /Y FEHIA (3) =a (4) HHESIHT

HIET ATUfEH 1948 =1 &M T “HREMT’ 368 i IR T T
1) 2¢(s) 2 2(p) B) 2(v) 4) 2(m)

A TiRgfHe s1fafEm 1976 o i Tfed HamesR Aftfd # e ae=l o Afgened &1 s
fopa & =nfew ?

(1) TH =R (2) T (3) T fasr (4) 9O - 100%
A: USHIR o1 Hifardes TR ffafed § 9 foeder wme o g g ?

(1) SE HHR (2) Hefed HHTR

3) freifod @R (4) et fhan T HETR
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32. The concept of ‘Job enrichment’ was given by :

(1) John Bratton  (2) F.W. Taylor (3) Herzberg (4) Jetfrey Gold

33.  Which one of the following countries is not a part of the “Golden Crescent”, Known for
narcotic production and supply ?

(1) Afghanistan (2) Pakistan (3) Kazakhstan (4) Iran

34. Regression analysis is done to measure :
(1) difference between variables (2) correlation between variables

(3) association between variables (4) corresponding change in variables

35. The first study of ‘family tree’ examining hereditory aspects of criminal tendency was
conducted in

(1) England (2) France (3) Germany (4) USA

36. Graphical representation of manpower in an organisation is called as :
(1) Replacement chart (2) Placement chart

(3) Manpower inventory (4)  Organisational structure

37. In which pictorial technique a set of pictures is shown to respondents for enquiring their
description about their thinking for representation of pictures ?

(1) Rosenzweig Test (2) Thematic Apperception Test
(3) Rorschach Test (4) Holtzman Inkblot Test

38. The present problem is mainly seen in terms of past events and experiences in :
(1) Clinical diagnosis (2) Etiological diagnosis
(8)  Social diagnosis (4) Dynamics diagnosis

39. Who among the following is eligible for the appointment as the Chairman of the National

Human Rights Commission in India ?

(1) Former Chief Justices of High Courts

(2) Sitting Chief Justices of High Courts
(3) Former Chief Justice of Supreme Court
(4)

4) Former Justices of Supreme Court

oo [ HITHIUIN
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33.
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37.

38.

39.

‘TSR GagH' (Sifa TREde) &t Tauron fhee < 2
(1) <A s (2) TUHRSHY, <o’ (3) Bolod (4) SR Tiee

frefafed ¥ 9 SF-1 <9 95e 9179l o 3cared @R SMyfd o faw s 9 At ieed e §
e & § 2
(1) ST (2) IfeREH (3) HIEEH 4) WA

frefafad § 9 frgs oam &3 % fore gfame faveryor fran s @ 2
(1) =X % &= 3R (2) = & A= HeHaY
(3) = % o= g (4) = ¥ qggEy IRadd

frefafed & 4 forg 3o o soRifass wgfa & STTa e Teqsii SS9 <d & fore ' =91 g1’ =l Teet
31z fohdn T o ?

(1) ze (2) wH (3) A (4) smfE
fordt e | w1 wifed <1 I gRT 8901 SR R el § 2

1) Rerade =i (2) wgHe 9

(3) TR gl (4) SRS o

frfafead § @ FF-Ht fasees dewdie § Saerarst & fael & T @ o S § 8k 3t
i &l ST o fora 37 fosii o1 oofq & o fofe ot Siar @ 2

(1) USSR T (2) HATH HIHLI T

(3)  sifer weror (4) SIS IR e qE

frefefad & @ frod ada™ Tuen & qea: ST &l el 3R STvel &t gfic ¥ <@ i § 2
(1) e fee (2) g FeH

(3) EHISeR faeM (4) Tifdehl e

IR H frafafad § @ F T AR S @ eteaet fege fhy oM & fore urst gar €2
(1) S=E-IEEEl & Jd & <R

(2) SHE-AECHE % STHM T =AETE

(3) =aqH A T Y4 & R

(4) S=IH AR % 8 ATEE
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40. The idea that humans have mental conflicts because of desires and energies that are repressed
into the unconscious is propounded by :
(1) Skinner (2) Michel Milken (3) Sigmund Freud (4) Eric Berne
41. Who has postulated the concept that delinquency and crime are learnt in companionship
group ?
(1) Merton (2) Sutherland (3)  Erickson (4) Parsons
42. “Studying the influence of counselling services on the functioning of couples with marital
disharmony”- is an example of :
(1) Retrospective-prospective study design
(2) Retrospective study design
(3) Correlational studies
(4) Prospective study design
43. Employees Provident Fund and Miscellaneous Provisions Act, 1952 does not cover :
(1) Injury compensation (2) Pension
(3)  Deposit-linked-insurance (4) Provident fund
44. According to Robins, major function(s) of communication in a group is/are :
(a) Control
(b) Motivation
(c)  Emotional expression and information
Find the answer from code given below :
Code :
(1) (a) only (2) (a) and (c) only
(3) (a) and (b) only (4) (a), (b) and (c)
s [T 3




40. g foum foram wfawfea fen on i om=am o A i 3ol oiR Seifell & &R gl # umfas
g§Ee?
1) f&=R (2) "EHd ek (3) fame wre @) e
41. Trfafed § 9 feam 3@ auron &1 ARk fFa € & e 8ik sty frsmveett § 9@ <
g7
(1) WA (2) HIATS (3) Ufewed (4) E=
42, ‘‘Jarfeeh SeA § STAHSR 9Tt Il & Sharehardl I e Sensti o g9 i st frfafea
T ¥ fhueh! 3= 7 2
(1) aaafi-vfasraslt st sAfyshey
(2) aaalt e Afqehed
(3) WEHSHHE: AT
(4) wfoash e Afaehed
43. FHHIR 9fasr ffy wd fafay yaum ifufem, 1952 frefafed § @ w0 sresifed T& w €2
(1) = 1 J3TEsT (2) dH
(3) Tedifse-feiere sftm @) s fafy
44, T F ITER T T | TG H1/%F T & F=1 8 ?
(a) T
(b) OOM
(c) - AT To SR
e feu T e T werEd ¥ W T
<< :
(1) o (a) (2) e (a) SR (o)
(3) A (a) 3 (b) @ (@, b)#R()
oo [ HFRARARANINS 1




45. 360 degree appraisal system is done by :
(a) Supervisors and peers
(b) Peers and subordinates
(c) Supervisors, peers and subordinates
(d) Supervisors, peers, subordinates and clients

Find the answer from the code given below :

Code :
(1) (a) only (2) (a) and (b) only
(3)  (a) (b) and (c) only 4) (@), (b) (c) and (d)

46. Bio-medical concept of health envisages health as :

(a) Absence of malnutrition (b) Absence of medicine intake
(c) Absence of disease (d) Absence of problems

Find the answer from the code given below :

Code :

(1) (a) only (2) (c)only

(3) (a), (b) and (d) only (4) (d) only

47. Which of the following is/are objectives of Beti Bachao and Beti Padhao Programme ?
(a) Prevent gender biased sex selective elimination
(b)  Ensure survival and protection of girl child
(c) Ensure education of the girl child
(d) Ensure proper nutrition for girl child

Find answer from the code given below :

Code :
(1) (a) and (d) only (2) (a), (b) and (c) only
(3)  (b) and (d) enly 4) (@) (b) (c) and (d)

48. Assertion (A) : Community engagement is not needed for higher educational institutions.

Reason (R) : There is no accountability of higher educational institutions toward
community.

In the context of two statements, which one of the following is correct ?
Code :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3)  (A) is correct but (R) is not correct.

4)

4) (A) is not correct but (R) is correct.
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45.

46.

47.

48.

frefafed 9 9 foras 571360 Teilt it godis Jomelt STOTE Tt © 2
(a) THolaTh qUT THEHE

(b) HHRE qAT EfTES

(c) TclaTeh, TR qUT STEEY

(d) TclaTh, THHRE, STHITEY a1 Weeh,/ Hanell (FAEeH)

= T 7T e At Herar ¥ W I

<< :

(1) % (a) (2) I (a) 3R (b)

(3) A (a), (b) 3R (o) 4 (@), (), (o) ¥R (d)
@R el So-fafhaana Saumon # @ &t fefafad foa €9 3 Henea & T 2
(a)  HHISOT 1 A BA (b)  SufeE o1 Ha 7w
) WD (d) TEEnsh &1 T g
ﬂ%ﬁ@ﬂ@@aﬁmﬁ@wwz

<< :

(1) o (a) (2) hORT ()

(3) %9 (a), (b) 3R (d) (4)  ho (d)

frfefaa o @ o= 93} T=nen 3R o ugel Hwn /% ST § 2
(a) T smeTia g T

(b) eifereht ferg] skt Sashifaan qen YR gHf=a

(c) ifershr forg skt fRren G e

(d) fereR o] &g SUg HoTeR gHeEd e

= feu 7T Fe H HeEd ¥ IW AW

W‘:

(1) e (a) 3T (d) (2) % (a), (b) ¥R (o)
(3) e (b) 3T (d) 4 (@), (), () IR (d)
AfeReT (A) :  S= oren HeeneH & foq Tqe™ 9k i STeavashd 6 B
& (R) : =7 fore Heensdi #1 wge™ % ufd #1E SareReE T8 ¥
I <) el o Hed # fefafad § 9 A @ Ee ®?

W‘:

1) (A) 3R (R) S T& )

2) (A) 3R (R) I e

3) (A) W@ &, g (R) Tord &1

(4) (A) 7@ €, =g (R) W2 B |
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49.

50.

51.

o |

Assertion (A) : In India, a large percentage of women cannot take decision independently
not even related to their own life.

Reason (R) : In India, a large percentage of women do not have political power.
In the context of two statements which one of the following is correct ?

Code :

(1) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(3) Both (A) and (R) are false.
4)

4)  (A) is true but (R) is false.

Assertion (A) : Workers’ participation in management results in industrial democracy.

Reason (R) : Workers’ education programme does not encourage the participation of
workers’.

From the two statements, which one of the following is correct ?
Code :

1) Both (A) and (R) are true.

2) Both (A) and (R) are false.

3) (A) is true and (R) is false explanation of (A).

(
(
(
(4

)
)
)
) (A) is true and (R) is right explanation of (A).

Assertion (A) : Fast growing up migration and mobility are causing social disorganisation,
juvenile delinquency and crime.

Reason (R) : Migrants are all the time concerned with their survival and accept few social
responsibilities.

In the context of two statements, which one of the following is correct ?
Code :

1) (A) is correct and (R) is wrong.

2) (A) and (R) are correct.

3) (A)is wrong and (R) is correct.

(
(
(
(4

)
)
)
) Both (A) and (R) are wrong.
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49.

50.

51.

ARTHT (A) : R F U Afenel 1 ufae Sgd St & S e T & Fol T o i, e

T foh @ oo Sfia & ok | ot
& (R) : IRa H = yiaerd H afecneli & arg Terifae wfed ==& 2|
3 Ml & e H, frafafad § 9 -9 wue 98 2
<< :
(1) 3R (R) S W&t € 3R (R), (A) F1 Tt == 76 2

) (A)aﬁ'{(R?ﬁ:ﬁW%ﬁm (A)ﬁﬂ%“ramw%

3) (A) 3R (R) I TTed ¥ |

(4) (A) ¥ T, TG (R) 7o B

AR (A) :  TeieH B HHIR Bt AEERE o URoTeRa®y STefiTes elichas shi €I Biel |
e (R) : FHIIR 38T HRIHH RISl IFISRT 1 WicaTed el T |
T SFI el & Hed o, frafafea § 9 -1 e 9dE ® 2

<<

1) (A) 3R (R) <T@ )

2) (A) 3R (R) I Terd B

3) (A) T ¥ 3R (R), (A) I Toid = T

(4) (A) T § SR (R), (A) FI T e

2

4

AMURAT (A) : TSl T I JorA iR nifasiicrar & werasy i fases, dme o1y 3R

ERNEEIRCEA

e (R) : JefE=i <Rt A ST SaXsifadt st feidr Tt § 31k 3 iga sy T e
TR T |

SE T el o e § frefafed § 4 fF- 9@ © 2

<

(1) (A) 5@ B 3R (R) 7T T |

) (A)aﬁ'{ ) ST w2 |

(3) (A) 74 ¥ iR (R) W B
3R (R) 1 7T B |

a7 ||H|\|H||||||||H||H\||||H|H|\|H|\|||H||\||\||\|\|II\ 1



52. Assertion (A) : After the demise of feudalism, those in poverty were seen as a direct threat
to the Social order, so the government formed the poor law and created an
organised system to provide care to them.

Reason (R) : Rescue societies were initiated to provide support to resolve the problems of
poverty, disease, prostitution, mental illness and other afflictions during
19t century.

In the context of two statements, which one of the following is correct ?

Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A) and (R) are true and (R) is not the correct explanation of (A).

(3)  (A) is correct and (R) is not correct.

(4) (A) is not correct and (R) is correct.

53. Assertion (A) : Early childhood emotions are intense with frequent emotional out bursts.

Reason (R) : Emotions are associated with tempertantrums, intense fears or Jealousies.

In the context of the two statements, which one of the following is correct ?

(1) Both (A) and (R) are not correct.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

(4)  (A) is correct, but (R) is not the correct explanation of (A).

54. Identify the correct order of actions in Disaster Management Strategy :

(1) Alarming, Preparedness, Rescue, Relief, Rehabilitation

(2) Preparedness, Alarming, Rescue, Relief, Rehabilitation

(3) Preparedness, Rescue, Alarming, Relief, Rehabilitation

(4) Rescue, Preparedness, Alarming, Relief, Rehabilitation

55. Which one of the following pairs is not correctly matched ?

(1) Person-in-situation - Hollis

(2) Problem Solving - Hamilton

(3) In Sight Learning Theory - Kohler

(4) Trial and Error Learning Theory - Erich Fromm

56. Identify the correct chronological order according to their dates of celebration in a year :

(1) ~ World Cancer Day, World Environment Day, World Blood Donor Day, International

Day of Elders
(2) World Environment Day, World Cancer Day, World Blood Donor Day, International
Day of Elders
(3)  World Blood Donor Day, World Cancer Day, World Environment Day, International
Day of Elders
(4) International Day of Elders, World Cancer Day, World Environment Day and World
Blood Donor Day
a1 LT s




52.

53.

54.

55.

56.

MUY (A) :  FHTAG o FHI B b T T AN Skl FHTTSIeh SHereel o foa ¥ig @ &
TR T @ ST o, THAT TR A TR o T A o 3R SHeht S@e 7g

Teh Hf3d YUt IR ohi |

& (R) : 19 off vraTsat o SRE TS, I, JvArgty, AEfas W qen o drerd ¥ gfw
feem & fore s el iy =t T

ST Sl el & Ted ¥ frefafad § 4 SH-ww@d@ g ?

w2 :

1) (A) 3R R)H’é%ﬂi’ﬂ (A) Tl T& == T |
2) (A)RR %asm(R ( A) T TE e TE T
(3) (A)a'ér%afr{ IRSGES

(4) (A) 79 © IR (R) W B

ARTRT (A) 1 A TTeATE H HoT IR-9R 3T el Ymedeh 3T dfed did B 2 |

& (R) : G ShIETaw, STfes 91 a1 gt ¥ eifed 21 2
Waﬁwﬁ%a‘aﬁﬁﬁwﬁr@aﬁ@ﬁq—ww%?

(1) R)aﬁw%l

) R) SHI 9@ € a1 (R (A)sﬁraﬁw%

3) aﬁ'—hﬂ'ér%ﬁrﬂ A) T TEI = T S

(4) W%ﬁﬁ aﬁﬂ'ﬁqu@%l

frfafead § 9 et Yeive WHEITG | SEaTE i S W&t hH 1 T ?
(1) IdmeH S ST, TR S, 9914, Ted, JIared
(2) IR AT, A SR A, TG, Ted, TG
(3) TIRY A1, G, S SR AT, e, TTaTE
(4) FEME, TAR HIAT, AEH S 6T, Ted, TIare

frefafed § 9 S0 7™ gafea & 82

(1) -3 TeeEE - gife™

(2) THRE GHEH - eftieed
(3) 5= g Hren = fagia - hIEeR

4) T TE IR R dE wfagia - i we

fr=fafea foodi =t 99 o 3% TA1T SH & Hél shH | FJaerd Shif :

(1) fova St feem, fave gaferv feaw, fova e foom, siqieta ao faad

2) forea qataRo feow, fova R foom, fova e feow, sttt g9 faag

(3) forva Taraeran feaw, fava R feaw, fova qaterm feaw, siadsia ao feaw
ST 9ot foaw, fava SR foaw, fava wafaRe feaw, fova e feaw
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57. Chronologically arrange the years of enactments of labour legislations given below :
(@) The Minimum Wages Act (b) The Payment of Wages Act
(c) The Trade Unions Act (d) The Payment of Bonus Act
Code :
1) (b), (©) (a), (d) (2) () (b) (a), (d)
®) @, ®) () (d 4 (© @) (d), (b)
58. Choose the correct sequence of the following Central Government Programmes based on the
year of their launch in the chronological order :
(a) Atal Pension Yojana
(b) Pradhan Mantri Gramin Awass Yojana
(c) Integrated Child Development Services
(d) Mahatma Gandhi National Rural Employment Guarantee Scheme
(e) Integrated Rural Development Programme
Code :
(1) (@), (©), (b), (@), (d) (2) () (e) (b), (d), ()
(3) (k) (), (e), (d), (a) 4)  (b), (@), () (e),(d)
59. Which among the following pairs is correctly matched ?
(1) Born criminal - Merton
(2) Anomie - Sutherland
(3) Sadomasochism - Sigmund Freud
(4) Differential Association - Lombroso
60. Choose the correct sequence of the year of enactment of the following Social Legislations in
the Chronological order :
(a) Special Marriage Act
(b) Female Infanticide Prevention Act
(c) Widow Remarriage Act
(d) Caste Disabilities Removal Act
(e) Indian Slavery Act
Code
(1) (), (d) (9) (b), (a) (2) (@), (b), (d), (e), (9)
3 (©) () (), (B) () @) (0), (&) (d), (9) (a)
61. Choose the correct sequence of the Fundamental Rights as they appear in the Indian
Constitution :
(1)  Right to Constitutional Remedies, Right to Freedom of Religion, Right to Freedom, Right
to Equality
(2) Rightto Equality, Right to Freedom, Right to Freedom of Religion, Right to Constitutional
Remedies
(3) Rightto Freedom of Religion, Right to Freedom, Right to Equality, Right to Constitutional
Remedies
(4) Right to Freedom, Right to Equality, Right to Constitutional Remedies, Right to freedom
of Religion
s [T 2




57.

58.

59.

60.

61.

1< QU 7T 98 AT Sl 3Tk ATTIHT & o6l & STIER Wat ohdl § Fafeed S

(a) IAaH wSId AtufEm (b) WG YT SAfufEE
(c) WS "y Afufm (d) &E e sAfufEE
& :

1) (b), (), (a), (d) 2) (), (b), (a), (d)

3) (@), (b), (0), (d) 4)  (9) (a), (d), (b)
FreAfafEd F< TR o HTAshHl hl 3Tk TRY B o a9 o STHR T el %A § LT
(a) A YA A

(b)  WETEN T A AT

(c) THfehRd oTeT forehtd Herg

(d) HRIHT Tt U AHIOT TSR TR TSI

(e) HHfRa T foehre hrishA

<

1) (e), (9), (b), (a), (d) 2) (), (e), (b),(d), (a)
3)  (b), (c), (e), (d), (a) 4) (b), (a), (©)(e), (d)
frefafed § 9 #HF-w g gfrl‘wr ??

(1) 9 frfa e

(2) T - HEwiE

(3) HeSHHEIEH - fome wEe

4) ferafre waifaoem - e

frefafad TS wrE w3 afafmi e S & oaf & o ur @ w9 § W
) fomiw foemg stfufm
) e o g e stfufem

) Toawen qafdems sfufrm

d) wfd f:grea e stfufem

) VRGHE SEar At

He :

(1) < (e), (d), (¢), (b), (a) (2) (@), (b), (d), (e), (0)

(3) (), (e), (d), (b), (a) 4)  (b), (e), (d), (9), (a)

Frefafad ga ARl Sl IR Sfau™ § 3T 3eeid o Wel %A § SFafed hifvg

(1)
(2) T I STUHR, WA T SRR, HTfHeh =1 1 SRR, FAHTh ITART 1 ATURR
3)

(

a
C

(
(b
(
(
(e

HaHaer IUER] 1 Sfeeh, eMfieh Tad=rdT ol YRR, Tad=IdT ol STfeeh, AT 1 STfHhR

ek TG ohl SARIHR, TadAT 1 SRR, T 1 ATIHR, G e STARI 1 ARIHR
(4) ST T STIBHR, THF 1 ATHR, AL ST=RT 1 ATYHR, it o 1 AfHR
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62. Match List - I and List - IT and choose the correct answer from the code given below :

List - I List - II
(@) The Minimum Wages Act @@ 1926
(b) The Maternity Benefit Act (i) 1951
(c) The Plantation Labour Act (iii) 1948
(d) The Trade Union Act (iv) 1961
Code :

@ (b) () (d)
1 @ @Gv) @ ()
(2) @) (@v) @ @
G @ @) @Gv) (i
@) (v) @) @ @

63. Match List - I and List - IT and choose the correct answer from the code given :

List - II

(Characteristic)

Descriptive Statistics (i)  Process of generalizations

Inferential Statistics (ii) Development of certain indices from the raw data

List - I

(Concepts)
(@)

(b)

(c) Skewness
(d) Kurtosis
Code :

@ (b)
® @
(2) @) (@)
®) @) @
@) @ @

(i) Pointing to the nature of distribution of items in middle of
series

(iv). Showing the manner in which items are clustered around
the average

64. Which of the following pairs is wrongly matched ?

1)
(2)
®)
4)

oo [ IHIEN

AITUC
BMS
INTUC
UTUC

Communist Party of India-Marxist
Bharathiya Janata Party
Indian National Congress

Revolutionary Socialist Party
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62. e - I S Gl - I1 o |1 GAfAd i AR = S 70 e 9 9@ ST 1 =997 HIfC

63.

64.

s (1D

e - 1
(a) =T HEG AU
(b) A oy srfufrem
(c) SN g9 AffaH
(d) ¥ e sfufm

@ () () (d)
1) @) @) @ ()
(2) @) (@v) @) @)
®) @ @) @v) ()
4 () @) @) @

et - 11

i) 1926
i) 1951
i) 1948

(
(
(
(iv) 1961

Tl - [ 1 Gl - 11 % |1 gafea sifse iR = fou 7u e =t oo 9 @@ s S

et - 1
( AFLUTOTT )

(a) TorerumTcHeR WifeTeh!
(b)  3TIHA HifeTent
(c) =
(d) oRa T

a) (b)

< (d)

E:

i)

i) v)
iv) )
i) i

)

= =

iv)

11

11

iv)

1

i)

i iii)

@@ (b)) (9 (
O @) @)
(i) (v) @@ @
(v)  (© (@)
i @ ) (

=

e - 11
( fasteare)

GIT=IhT0T shl Afeha

YRIWeh STkel sl Her™dl § Hidua gashicnl i foend
[aell & "L HEl o faawor i yepfa SR &
g Tkt g fored 7, ofved o oy Tfesd ©

frfafed § @ sF-o1 g9 gafed T@ 8 2

(1) TIAEAFLH. FRIfE Ol 31 Sfear-HAmerdara)
(2) TR RIGIRASERIRIC]

(¢) SRWAFH. - e TwEa w9

4) FIAFHL el derfee 9t
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65. Which one of the following pairs is not correctly matched in group formation in
community ?

1)
()
(3)
4)

66. Match List - I and List - IT and choose the correct answer from the code given :

67. Match List - I and List - II and choose the correct answer from the code given :

Code

(1)
(2)
®)
4)

a7

Before group formation - Planner
At the time of group formation - Motivator
Beginning stage of group - Observer
Development stage of group - Facilitator

List - I List - II
(Committees/ Commissions) (Chairpersons)
Royal Commission on Labour (i) P.B. Gajendra Gadkar
Labour Investigation Committee (i) J.H. Whitley
First National Commission on Labour (iii) Ravindra Verma
Second National Commission on Labour (iv) . D.V. Rage
@@ () (o (d)

@@ (@(v) (1) (i)
@iv) (@) (i) (@)

@@ (@) (1) (1v)
(i) @) () (i)

List - I

Power @A)
Authority (ii)
Influence (iii)
Coerse (iv)
@ ®) © (@
0 Gi) (@) @)
() () ) @)
() @) () @)
() () (i) (iv)

) ®) @) @
JUFAR IR0

List - II
Ability to alter others in general ways
Ability to force others
Ability to do something

Right to manipulate or change others
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65. frefafed gl § @ SF-91 g 9@ § 99g e &I gfte ¥ gafad 7@ €2

(1) 99ET3T 9 9o A IRISEEXI

(2) 9T S & qHY - U

(3) TR A URMRE =T - Uaw

4) HEHfamm=n - gEed (HEfaee)

66. e - I 1 Gt - I1 % |1 Fafed wifee iR e e 70 fe T 9@ SR o1 =24 HIf

Tt - 1 gt - 11

( wfafa/ s ) ( 31eTeT)
(a) o HHTH AH AN () HLE. TR TEHRT
(b) o Sita wfafg (i) .TE. =M
(c) TH T 90 TR (iii) forg =i
d) fedta adta g M (v) S
<

@ (b) (9 (d)
1 @) Gv) @) (i)
) (@v) @) @) @
®) (@) @) @) ()
(4) @) @) (@v) (i)

67. o - I Gl - 11 o |1 GAfAd ST IR A= T T %e at Ferd § @& S AT
I et - 11

(a) e (i) HE AR Al ¥ 3T (TERI) Rl IS i &l
(b) IUERR (i) SEU I faa HT FF E
(c) g (i) FH HE HT gHAA
(d).~ gdifed (iv) T L T2 O hl Iga l ATUHR
G
@ (b) (9 (d)
® @ @) @ ()
) @@ @ @) ()
3) @) @Gv) @) (i)

1v

)
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Match List - I and List - IT and choose the correct answer from the code given :

List - II
G 1933
i) 1966
(i) 1954
(iv) 2003

List - II
(Meaning)

(i)  Evaluation of self-based on reflection or social comparison

(i) A self-belief to evaluate behaviours and actions categorised

(iii) Internally consistent feelings about self-beliefs

(iv) Degree of consciousness about thinking, feelings and

- 1995
- 2005
- 1987
- 1985

68. Match the following :
List - I
(a) The Children (pledging of labour) Act
(b) International Covenant on Economic,
Social and Cultural Rights
(c) The Displaced Persons
(Compensation and Rehabilitation) Act
(d) National Charter for Children
Code :
@ () © @
O 6 @ G @)
@ @ G 6 @)
@) v @) @ 0
@) @ @ ) 0
69.
List - I
(Concepts)
(a) Self-awareness
(b)  Self-esteem
out of bond
(c)  Self-respect
(d) Self-confidence
actions
Code :
@@ (b) (¢) " (d)
1 O G @) @)
2 @(v) @) @) (i)
(G) (v) (@ @) ()
@)y @ G@v) @ ()
70. Which among the following pairs is wrongly matched ?
(1) Pulse Polio Immunization Programme
(2) National Rural Health Mission
(3) National AIDS Control Programme
(4) Expanded Programme of Immunization
a1 LT 2
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68. TrfafEa i gafea wifsa

el - 1 gt - 11

(a) oeteh (g9 fiReEteR) sifafm i) 1933
(b) TR, WM qem Hishias AURR (i) 1966
(c) Toreenfya saferd (qatrersn el gaieq) sifuf@m (i) 1954
(d) o= GeHt T =Y (iv) 2003
<

@ (b) (9 (d)
@ @ @ @G Q)
2) @) @ @ @)
3) (@v) (i) @) ()
(4) @) @) @v) (@)

69. T - I Sl Tl - I1 o |1 GAfAd g AR = T 70 e 9 9@ ST 1 =997 HIT
e - 1 Tt - 11

( TR ) (3red)
(a) SATH-WY () o IR AT o & STUR W W &l Jodiod
(b) RN (i) T e § e HeRRl IR fshanstl &1 qodied i =g @

<l fergamq

(c) 3TcH HHM (ili) T ST AR o IR H SAReh €I H TG HET
(d) T foemd (iv) foami, aremet oIk fraedi & IR # =ra &1 'R
e

@ (b) (9 ~(d)
1 @ @) (@) (i)
2 @Gv) @) G0 (i)
3) @v) @) (@) @
(4) @) @v) (@) ()

70. frefafed § @ oH-w1 g9 gafed Té 8 2

(1) Ted difc Feheniol hishd

2

LT AT ey e

(2)
(3) U weH 0w
(4)

4
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Instructions :  Read the passage below and answer the questions that follow based on your
understanding of the passage (71 - 75).

The quest for distinct higher living styles has led to blind competition which is fuelled by
rising consumerism and aspirations. A good number of families are becoming prey to market forces
resulting in over spending and indebtedness leading to an excess of family expenditure over income.
Consequently, two options are left-either put in extra hours to cover-up the deficit or to learn and
apply shortcuts to be in competition. The price rise, allurement for new products, inflation in the
market pushes people into vicious circle of financial crisis and family relations becomes the first
casualty. Further, peoples” aspirations for higher standard of life are also affecting relations within
family. The media has become a tool for changing opinions and advancing market agenda up to
an extent that it peeps into the personal space of the family, affecting even sexual relationships
between couples. Our society is facing the bigger question of how to save our families from
degradation, disintegration and subsequent demise. Recognizing the fact that the change has its
own speed, pace and direction, there is an urgent need to explore ways and means to protect
families. Since there are multiple, complex and integrated factors responsible for the present situation,
the answers should also be different at different levels. At the government level, it should be kept
in mind that all policies ultimately affect families. Therefore, all policies should be examined with
this perspective also. Since there is no single easy definition of family, policies must accommodate
all possible types. Secondly, there is need to initiate and strengthen institutional capabilities where
all kinds of agencies including schools, religious organizations and entire civil society sector be
involved. In nut shell, we should have family sensitive policies. Law has emerged as a more viable
instrument to prevent marital conflict and families have been quite successful so far. Both marriage
laws and family laws are performing well but their implementation still has scope for improvement.

71. The new ways and means to protect families should be in consonance with :
(1) The changes in the society
(2) The capacities of the people
(3) The power of government

(4) The services delivered by civil society groups

72. The relations within a family are largely affected by :
(1) Smaller size of the family
(2) Sexual relationship between couples
(3) Rising individualism among family members

(4) Weaker implementation of government policies
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fder: frafafaa T &1 ereem wifSe qen T % o= § qd 91 o1 ST THE o STYR W W
ST (71-75) |

fafere 3= Sfam Sielt @t oo 3 ot gfaeayt s =9 feon § 919 e Syl iR stemiensdi
q AR 31feren seman foat w1 ¥ e IRar 9k ot vfaaal & R oF © € 59 woasy o sifuw
I TR § IR O B W® ¥ Y S uRaR o6 o3 St T 9 iy B T R | 39 IRomEeaEy
Faet < fashed a9 € - 91 A1 =1 ol QU w4 o forg stfafea = vl foran Sme = wfoeast & o = & fag
Tiehed HE ST 3R 3% TR ST | 99K § o gfg, TU SURI o e gard™ SR Jeehifd 9§ @n
fordia Hehe o Toash H %l S € IR SHeh! Ta¥ Ugel YHIE WRETeh Geei T Sl g1 $Heh Afafia,
AN Bl I e WX hi SARIRME ot TRER % Heiell o1 gonfaa & @ &1 Hifedn Al ot T4 dgem iR
TSR & TSIST 1 AT T M 1 SaAT TR FT1EF 99 T & foh 38 IRER o SAfoRTd Staq | off siish YR
Y fean © s el & A9 ey off gofad 21 1 § | S9N 9IS o 9 991 U 98§ o o0 9fEni

3TRY 9, 27 § IR 39 I THIG B § el F= S | 56 q24 Sl A # 1@ gU foh IR o 0
Tfa, =rer 3R fewn 2t §, 9Rari 1 = % dR-adiehl 1 aere it e sTevashat § 1 i aH feafa
% foru 31es, Sifeat iR TAfwa R Sier €, zafen fafis @i wsum ot fim-fie 29 =ifee | @R
& W W FE A Tl S =feC for gt Hifqai siqa: 9o = guifaa s €1 gafe, gt Sifqdl =t =9
Re & oft Sita 6t S =1few | gfer aRar ot e Tk e aRam e 8, safery Hifel o ufer & e
e YhRI ! IMHS FhAT ST =1feT | TH, HEIWTA SHarsii st FHio i 3R gge LA i STavdehdl ©
e fommerdl, enfies det afeq @+t yor o erfireron iR ol fafaer S9@Et (7R 9AT) &9
wnfHer feran S =nfew | Harg o, gAR e 9Rer & ufq Saesie ifaai @t =ifee | S derfesw siaq &
THAD ! Tk o Teh AfeF e WEA & 9 H 3T § 311 399 uReR 319 d H1H 9%d | § | faar
et T SR IRAR Haitl A 2781 M HL ® & Wy ST hraroed § o1eft off gur =1 19w 71

71. 9RERI & 99M % T4 IR-T F=fafead § 9 fhds sTEy e =fee ?
TS § ufadd &

ST oAt AT o |

LRI ot MR |

fafae Gramdt (TR 99 SR 1 YGH i S &l Hersii o |

72. TRER % i ey ffafea § 9 gera: fade g/ gufad 2 § 2
(1) 9RER 1 Bl AR |
(2) IEl & o= AF da |
3) URER & WeH & o= dgd dAfRwdE |

TEHR] Al 1 @ A |
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73.  Which institution is affecting the families most in the present time ?
(1) School and Government (2) Religious Organisations

(3) Media (4) Civil society groups

74. The families can be saved from disintegration through :
(I) Reducing speed of change (2) Moulding direction of change

(3) Preventing institutional crisis (4) Building family sensitive policies

75. The families are trapped in the vicious circle of financial crisis due to :
(1) Rising consumerism
(2) Rising aspirations
(3) Rising consumerism and aspirations
(4) Quest for higher life styles
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73.  odHH GHI § hiF-E GEAT IR 1 Feiiferen gHiferd s W e ?
(1) foemer sk TR (2) nfHe HMea
(3) wifem (4) fofaa S (TR 99S) 998

74. Treafafed § @ fhas oreag 9 af@Rl o 229 9 a=9m1 ST el § 2
(1) ufed= =t 7Ifd 1 FH FH | (2) uREd =t feum w1 Arg |
(3) HEATNTd Hehe ohl eherd | (4) 9RER % gfd Hegasiar wfifal =1 faio e |

75. frefafed § @ frg wRor  oREr e S % o § %Y o §2
(1) 9@ BT STHIKITEE & R
(2) It g3 SRS h HR
(3) G B SUHIKIEG S SEhIEST o HRl
(4) A S et S AT o HR
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Space For Rough Work
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